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Q.No: 7

"The Act of Protection of Children from Sexual Harassment" was passed in which year?
2014
2016
2012
2010

Pir Budhan's fair, more than 250 years old, is held near the tomb of the Muslim saint Pir Budhan at Sanwara in
fair is organized in the months of August-September.

Harda
Khandwa
Shivpuri

Betul

When was the SC/ST Act passed?
1989
1999
1995
1891

Myanmar was declared Independent in which of the following years?
1942
1955
1948
1954

The Devi Ahilyabai Holkar International Airport is in
Indore

Jabalpur

Gwalior

Bhopal

In which year was the notification of the Madhya Pradesh State Biodiversity Board issued?
2005
2000
2010
2012

The 30th Adriatic Pearl tournament was hosted by which of the following countries?
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Q.No: 15

Montenegro
Japan

Italy

India

Who virtually flagged off the 20 Broad Gauge Locomotives to Bangladesh in May 2023?
Piyush Goyal

Arvind Kejriwal

Ashwini Vaishnaw

Suresh Prabhu
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Volleyball is the national sport of which two neighbouring countries of India?
Nepal & Myanmar

Bangladesh & Bhutan

Nepal & Sri Lanka

Myanmar & Bhutan

tiger reserve was declared as the first biosphere reserve of Madhya Pradesh.
Panna
Sanjay
Satpura

Pench

Japan's Momiji Nishiya became the youngest individual Olympic champion in history in Tokyo Olympics, she is related to which
sport?

Boxing
Fencing
Skateboarding

Shooting

Which country won the 2020 Kabaddi World Cup title?
Pakistan

India

Bangladesh

Iran

World Turtle Day is observed every year on
23 May

2 May

3 May

13 May

Since which year did the Madhya Pradesh Rural Road Academy (MPRRA) start its operation?
2009
2001
2018
1992

Which state has the maximum number of Rajya Sabha seats?

Gujarat
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Q.No: 22
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Q.No: 23

Rajasthan
Maharashtra

Uttar Pradesh

Jallikattu sport is related to which state?
Karnataka

Kerala

Tamilnadu

Andhra Pradesh

The present-day Madhya Pradesh state came into existence on 1 November following the reorganization of states.

1947
1956
1952

1949

DigiLocker is a flagship initiative of which Ministry?
Ministry of External Affairs

Ministry of Finance

Ministry of Earth Sciences

Ministry of Electronics & IT

As per the Census 2011 which union territory has least area?
Andaman and Nicobar

Lakshadweep

Dadar and Nagar Haveli

Daman and Diu

The National Commission for Women was set up as statutory body in January under the National Commission for Women Act,
1990.

1995
1992
1980
1997

Which of the following is NOT a byproduct of coal formation?
Peat

Tar

Petroleum

Coal gas

Power of lens is the reciprocal of its:
Focal length

Wavelength

Image distance

Object distance

Phylum chordata is divided into how many subphyla?
12

6
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The headquarters of Greenpeace International is located in
London

Dubai

Nairobi

Amsterdam

The highest percentage in the atmosphere is
carbon dioxide

argon

nitrogen

oxygen

What is the full form of CFC?
Chlorine fluorine calcium
Chlorine fluorine carbide
Chlorine fluorine Chlorine

Chloro fluoro carbon

Relative density is measured by
Pendulum

Hydrometer

Lactometer

Galvanometer

Diabetes patients often have to inject themselves with a chemical to control blood sugar levels in their bodies. Which hormone is
responsible for regulating blood sugar levels in the body?

Estrogen
Thyroxine
Testosterone

Insulin

The 3R principles in waste management involves
Reduce, Retain, Regain
Reduce, Regain, Reuse
Reduce, Reuse, Recycle

Reduce, Reform, Reset

Which eye condition is characterized by the inflammation and infection of the transparent membrane covering the white part of the
eye?

Cataracts
Blepharitis
Conjunctivitis

Glaucoma

Which of the following is NOT a characteristic used in animal classification?
Presence of a backbone

Presence of chlorophyll

Body symmetry

Body cavity
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Q.No: 36

Q.No: 37 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures.

Which of the following place occurs Penguin?
Australia

Antarctica

Africa

South Africa

Assertion (A): The earth summit, held in Rio de Janeiro, Brazil.

Reason (R): It proposes a global program of actions for sustainable development.

A is false, but R is true
Both A and R are true, but R is not the correct explanation of A.
Both A and R are true and R is the correct explanation of A.

A is true, but R is false.

What is the meaning of C in IMNCI?
Company

Childhood

Cholesterol

Compulsory

Fungi play a crucial role in the ecosystem as
Primary producers

Herbivores

Decomposers

Predators

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will

appear when opened.

How would this paper look when unfolded?
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Choose the Venn diagram from the given options that best represents the relationship among the following classes.

Q.No: 38
Year, month, day

Which is the wrong number in the following number series?
Q.No: 39
25, 36, 48, 60, 75, 90

A 48
B 75
C 60
D 36

Q.No: 40 Which one of the following diagrams represents the correct relationship between DOCTORS, SURGEONS and NURSES.
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Q.No: 41 Which of the following diagram indicates best relation between City, State and Country?
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Q.No: 46

How many times hands of clock makes right angle in 24 hours?

DIRECTIONS: In the given question find the answer figure in which question is embedded.

Problem Figure:

O

Answer Figures:

(=
| & |
" ® © ©
(B)
(D)
©
(A)

Find the missing number from the given responses in the following question.

42>
NI

126
130

In a row, Kamlesh is 9th from the left and Vipin is 16th from the right.If they interchang their position Kamlesh becomes 25th from
the left. How many people are there in a row?

40
43
34
35

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures.
How would this paper look when unfolded?
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Q.No: 47 A man said to a woman, "The only son of your brother, is a brother of my wife." How is that woman related to the wife of that man? U SGH! A TF Afgal 4 Hel, "TBR T

o

A Mother Al
B Aunt Sidt/gam
C Sister g1
D Grandmother ordt
Find the analogous pair: TAM SISt BT Ul a8
Q.No: 48
Mitochondria : Energy ::D.N.A. : ? ORAHISA : Sotf :: S . W: ?
A Immunity TfaRem
B Reproduction ST
C Inheritance CRUGEZ]
D Locomotion wfrefierar

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures.  HFTS % Th ThS Bl HIgH $T HH 3R FR
How would this paper look when unfolded? T R I8 HITS ST fa@me?
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Complete the question figure by choosing the best alternative from the answer figure.

e

What should replace the question mark (?) in the given diagram?

16

25

36

]

13

Identify the diagram that best represents the relationship among the given classes.

Humans, Female, Professor
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Q.No: 54 Select the odd one out.
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Q.No: 55
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Q.No: 57
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Q.No: 58

HL
LP

TX
NK

Identify the figure that completes the pattern.

? [
k_

Express 20 decigrams as a decimal fraction of 4 kilogram.
0.05

5

0.0005

0.005

Alish and Alex have some money with them. If Alish have Rs. 4 more and Alex have Rs. 15 less, the ratio of respective amount with
them will be 3 : 5. If Alish have Rs.10 less and Alex have Rs. 5 more, the ratio of the respective amount with them will be 4 : 11.
What is the ratio of amount with Alish to Alex initially?

2:1
5:9
10: 21
11:25

If a certain sum of money amounts to Rs 1760 in two years and Rs 2000 in 5 years at simple interest, then the sum is:
Rs 1600
Rs 1500

Rs 1200
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Q.No: 65

Q.No: 66

A

Rs 1800

In a class, 48% of the students are girls. If the boys in the class is 26, then what is the total number of students in the class?

50
65
60
40

Find the value of x if -\/X+2\,/X+2\IX+2~——— =x

12

72 % of x = 18 % of 633.80, then find x.
168.36
158.45
142.35
150.63

In what time will 1860 amount to 2641.20 at simple interest 12% per annum?

5 years
3.5 years
4 years

6 years

The average run scored by a batsman in 21 innings is 37. He scored ‘X’ runs in the 22nd inning such that his average run increased

by 2 runs. Find the value of *X".
81 runs

None of the given option
80 runs

82 runs

S.l. on Rs 6250 at 14% per annum for 146 days.
250
550
450
350

By division algorithm of polynomials, p(x) =
8(x) x g(x} — r(x)
g(x) x q(x} x r(x)
g(x) x q(x) + r(x)

g(x) + q{x} + r(x)

The value of 5.8 + (7.4 +3.7x5) -6 x 2 +2.5?

9

1800 0

TF Tl H, 48% faandf asfear §1 o <
50
65
60
40

\/x+2\/x+2\/x+2————

12

X P172 % = 633.80 FT 18 % ¥, dl x
168.36
158.45
142.35
150.63

13 gy 7 1860 M 2641.20 YR
5 ad
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8137
Ru T R & € o1 78
803
8237

6250 FUA W 146 AT & T 14% wfey
250
550
450
350

qgual 31 faureH e fafly (division alg
g(x) x a(x) —r(x)
g(x) x q(x) x r(x)
g(x) x q{x) + r(x)

g(x) + a(x) + r(x)

58+(7T4+37%5)-6x2=25%
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Q.No: 72

Q.No: 73

10
11
12

The value of 3x3 + 6x + 7 at x= 3 Is:

100
106
53
58

The cost price of a book and a pen is Rs. 100. If the book is sold at a profit of 25% and pen is sold at a loss of 20%, then there is a
loss of Rs. 2 in this whole transaction, find the ratio of cost price of pen to the cost price of book.

2:3
2:1
3:2

1:2

10
11
12

33+ 6x+7FMXx=3 WANT

100
106
53
58

TS frare SiR T HeH 1 59 I T 1(
%, 3 T9 & 59 4 IR frae & H9

2:3
2:1
3:2

1:2

Alipta got some amount of money from her father. In how many years will the ratio of the money and the interest obtained from it SR 3T 3EF At 3 B R A | R

be 10:3 at 6% simple interest per annum?
5 years
3 years
4 years

7 years

The roots of the quadratic equation y? + 9y — 22 =0 are:

-11,2
18, 4
6,3

11, -2

If FOREST is coded as EQOINZ, then USEFUL is coded as?
TUBKQS
TUBJZR
TRBKOS
TUBJPR

Find the wrong term in the given series:
3,5, 25, 75, 1125, 84375

25

1125

84375

75

Select the letter triad from the given options which follows the same relation as shown below.

(RVB, BFL, LPV)
YBH, CXD, ITS
RWQ, VPL, BPE
KOU, FIP, YCI

5af
399
499
7 ad

fgema TeffemRory2 + 9y - 22 =¢

-11, 2
18, 4
6,3
11, -2

¢ FOREST &1 ®1S § EQOINZ, T USH
TUBKQS
TUBJZR
TRBKOS
TUBJPR

& TS sy ¥ Tad Ue I Bl
3, 5, 25, 75, 1125, 84375
25

1125

84375

75

fou U fawedt § ¥ 39 fiwey &1 I97 FY

(RVB, BFL, LPV)
YBH, CXD, ITS
RWQ, VPL, BPE
KOU, FIP, YCI



Q.No: 74

.No: 75

Q.No: 76

o 0O ® >

Q.No: 77

O 0O & »

Q.No: 78

LAS, SYU, UUQ

A cube is painted and cut into 64 smaller but identical pieces by making the minimum possible number of cuts. What is the

minimum number of cuts required to cut a cube?
8

10

6

9

If HEAD is coded as 37 and BANK is coded as 57, then how will KITE be coded as?

76
69
91
87

Select the related word/letters/number from the given alternatives.

13:78::15:7?
77

56

167

135

In the question below some statements are given followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically

follows the given statements.
Statements:

I. Some qualities are good.

II. No good is poor.

III. All qualities are super.
Conclusions:

I. Some qualities are poor.

I1. Some super are good.

II1. No poor is super is a possibility
IV. Some qualities are not poor.

Only conclusions (I) and (IV) follow.

Only conclusions (II) and (III) follow.

Only conclusions (II), (III) and (IV) follow.

Only conclusions (I), (III) and (IV) follow.

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will

appear when opened.
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Complete the following series:
Q.No: 79
54, 103, 184, 305, 474, ?

A 584
B 699
C 869
D 558

Identify the answer figure from which the pieces given in the question figure have been cut.

Q.No: 80 /l

Q.No: 81 If the day before yesterday was Thursday, when will Sunday be?

A Two days after today
B Today

C Day after tomorrow
D Tomorrow

Q.No: 82 Mohini went to movies nine days ago. She goes to the movies only on Thursday. What day of the week is today?

A Thursday
B Saturday
C Sunday
D Tuesday

\V

V

A
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54, 103, 184, 305, 474, ?
584
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If a mirror is placed on the line AB, then which of the answer figure is the right image of the given figure?

Q.No: 83 Q

@
o
&S
@
c )
. DA
@
Q.No: 84 If two is subtracted from each odd digit and if two is added to each even digit in the number '9275436', what will be the

difference between the digits which are third from the right and second from the left of the new number thus formed?

A 2

o 0 w
A =B ©

Complete the following series
Q.No: 85
6, 24, 60, 120, 210, ?

A 432
B 322
(9 336
D 343

Q.No: 86 Asha is twice as old as Anita. Three year ago, she was three times as old as Anita. How old Asha is now?

A 7 year
B 6 year
C 8 year
D 12 years

A boat going downstream travels a distance of 28 km in 4 hours and if it goes upstream to cover this same distance, it takes 5
Q.No: 87 . ! h
hours. Calculate the boat’s speed in still water.
A 9.5 km/hr
B 11.4 km/hr
C 7.6 km/hr
D 6.3 km/hr

Q.No: 88 Which of the following is not divisible by 87

TR opiadl § $1 f sl vy smefa
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A
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A 4448 4448
B 2544 2544
C 3840 3840
D 4316 4316
Q.No: 89 A man goes to a place on bicycle at speed of 16 km/hr and comes back at lower speed . If the average speed is 6. 4 km/hr in total , & @faq 16 f&. . /qver Bt TTﬁT.@I i)
then the return speed (in km/hr) is O 1T T T et (.79 @
A 8 8
B 4 4
C 6 6
D 10 10
Q.No: 90 If the selling price of 20 pens is equal to the cost price of 16 pens, then find the loss percentage. g 20 U7 &1 fagwa T 16 T & ArTd 7
A 15% 15%
B 20% 20%
[of 25% 25%
D 10% 10%
I vy TR gd H oy af o < gt }1 o O Smufy et Y 9 o wash
Reeta, Aarti and Rekha together can complete a piece of work in 9 1—3; days. If Reeta alone can do it 3, SR 3R T era oo i @l 94
Q.No: 91 ;4 17days and Aarti alone can do it in 34days. In how many days Rekha alone can complete the work? \y}{.sm'(ﬂ 3l Y 34 fAT Y R T S
A 57 days 57 f&
B 55 days 55 a9
c 53 days 53 faF
D 54 days 54 f&
Q.No: 92 A train travelling at 126 km/hr crosses in 13 seconds. Calculate the train’s length. 126 fbHi/eer &1 a1 A 9Tl e 13 &
A 455 m 455 Wew
B 290 m 290 Hex
C 390 m 390 Hix
D 275 m 275 WX
Q.No: 93 Which number is divisible by 4,9 as well as 18? B W = 4,9 IR 18 I faursy 2
A 6527 6527
B 5466 5466
C 5267 5267
D 5436 5436
What should come in place of question Mark ‘?’ in the following number series? FAfea e g H U g 2’ & 5
Q.No: 94
12, 14, 15, 16. 18, 20, 12, 14, 15, 16. 18, 20,
A 23 23
B 22 22
c 25 25
D 21 21
Q.No: 95 Which of the following is not multiple of 2? faddsq2 EIRIUE] 713‘1%7
A 978 978
B 430 430
C 172 172
D 261 261



The radius and height of a right circular cone are in the ratio 5 : 12. If its volume is Teh GHBIOT AMTHR ?ﬁ_‘jzﬁ'ﬁ?ﬂ‘

Q.No: 96 g00 1 ems3, whatis its slant height? ENCARIGIEEIEE S kN
A 20 cm 20 3

B 26 cm 26 ¥4

C 13 cm 13 it

D 9cm o Tt

Prachi can finish a 20% of a work in 5 days. Madhuri is 5/4 times efficient as Prachi and Teena is 2 times as efficient as Madhuri. In U=l 5 &A1 ¥ 20% 1 QU &= 9&dt ¢

Q-No: 97 how many days work will be finished if they do the work together? T Bl S
5 .l ﬁ:{
* ) - —_—
A S days o 17
5,

c -!19 days lT‘;—J_ fe
<3 -
D :B days A ﬁ':{
What should come in place of question mark *?” in the following number series? AfafEd v & ud fag (2) $ A ©
Q.No: 98
3,5,5/19,7,41,9,? 3,5,/5/19,7,41,9,?
A 113 113
B 73 73
C 72 72
D 71 71

AABC ~ APRQand PQ =4 cm, QR = 7 cm and PR = 8 cm ar(A ABC) : ar(A PQR) = 1 : 4, then ACis equal to: A ABC ~ APRQ 3R PQ =4 cm,

Q.No: 99 © MPESB. Al rights reserved

A 1cm 1cm

B 3.7 cm 3.7cm

C 2cm 2cm

D 4 cm 4 cm

Q.No: 100 zsir:hii:Zr\i:’::rE?ood as a work man as Hari. And together they can finish a piece of work in 21 days. In how many days will Ram m, Eﬁ@ﬁfﬁ f 21 3R Ty
A 28 days 28 &

B 21 days 21 =

C 24 days 24

D 25 days 25f=



